

Use expanded form to find the sum.

$\begin{array}{r} 233 \\ + 474 \\ \hline \end{array}$	H - $200 + 400 = 600$ T - $30 + 70 = 100$ O - $3 + 4 = 7$	$600 + 100 + 7 = 707$
$\begin{array}{r} 193 \\ + 324 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 175 \\ + 228 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 541 \\ + 286 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 445 \\ + 346 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 119 \\ + 385 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 523 \\ + 384 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$
$\begin{array}{r} 667 \\ + 328 \\ \hline \end{array}$	H - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ T - $\underline{\quad} + \underline{\quad} = \underline{\quad}$ O - $\underline{\quad} + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$